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LOGICAL ABILITY

Q1. Find the missing pattern - BOQD: ERTG:: ANPC : ?

DQSF
FSHU
SHFU
DSQF

O O O O

Q2. If HARD is coded as 1357 and SOFT is coded as 2468, what will 21448 stand for?

SHAFT

SHORT
SHOOT
SHART

O O O O

Q3. Raman is not wearing purple and Aman is not wearing black. Raman and Sahil wear different colors.
Avinash alone wears green. What is Sahil's color, if all four of them are wearing different colors?

Green
Black
Purple

o O O O

Can't Say

Q4. The question is followed by two arguments numbered | and Il. You have to decide which of the
arguments is a strong argument and which is a weak argument.

Statement:
Should a total ban be put on trapping wild animals?

Arguments:
l. Yes, Trappers are making a lot of money.

Il. No, bans on hunting and trapping are not effective.

Only argument | is strong.
Only argument Il is strong.
Either | or Il is strong.
Neither | nor Il is strong.

o O O O O

Both | and Il are strong
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Q5. In the question a statement is followed by some courses of action. A course of action is a step or
administrative decisions to be taken for improvement, follow-up, or further action in regard to the
problem, policy, etc. You have to assume everything in the statement to be true and then decide which
of the given suggested course(s) of action logically follows for pursuing.

Statement:

'The World Bank has approved a $ 300 million loan to finance a project to construct coal ports by
Madras Port Trusts.

Courses of Action:

I. India should take financial help from other international financial institutions to develop such ports in
other places.
. India should not seek any help from the international financial institutions.

Only | follows
Only Il follows

Neither | nor Il follows

O
O
o Either | or Il follows
o
o Bothland Il follow.
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